BOGGLE Solution
The goal of the puzzle was to complete each of the grids by filling in the provided letter
tiles appropriately so that each word in the list could be found in the grid. The rules were the
same as in the traditional game of BOGGLE:
« To form words, the letters must be adjoining in a 'chain’. Letter cubes in the chain may be

adjacent horizontally, vertically, or diagonally.
e No letter cube may be used more than once within a single word.

The solutions to the three puzzles are shown here:
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Once the grids were completed, solvers needed to fill in the provided blank grid with the
tiles that corresponded to the numbers in the original puzzles.

The final solution of "Answer PAPER THIN" can be read spiraling from the center of the
grid, as shown:
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